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3 b ]
P and Q can do a job in 2 days; Q and R can

6.
do it in 4 -days; and P and R in 12/5 days.
What is the number of days required for P |
alone to do the job ? ’

(a) 5/2
(b} 3
(¢} 14/5
dy 6.

7.
A person borrowed Rs. 7,500 at 16%
compound interest. How much does he have to
pay at the end of two years to clear the loan ?
(a) Rs. 9,900
(b) Rs. 10,002
{(e) Rs. 11,000
(& Rs. 11,052
A trader sells two cycles at Rs. 1,188 each and
gains 10% on the first and loses 10% on the 3
second. What is the profit or loss percent on|
the whole ?

(a) 1% loss

(b) 1% gain

{c) No loss no gain

(d) 2% loss

What is the least number which when divided |-
by 42, 72 and 84 leaves the remainders 25, 55
and 67 respectively 7

(a) 521

(b) 512

(c) 504

(d) 487

10.
If a+b=2m? b+c=6m, a+c=2, where
m is a real number and a<b <c¢, then which
one of the following is correct ?

(a) 0<m<1/2
h) -1=m<0
(¢ 1/3<m<1
) l<m<2
{2 - A}

The mess charges for 35 students for 24 days
is Rs, 6,300, In how many days will the mess
charges be Rs. 3,375 for 25 students ?

(a) 12

(b) 15
(c}y 18
(d) 21 -

A person P started a business with a capital of
Rs. 2,625 and another person Q joined P after
some months with a capital of Rs. 1,200. Out
of the total annual profit of Rs. 1,644, P’s
share was Rs. 1,212, When did Q join as
partner ?

(a) After 2 months

(b) After 3 months

(c} After 4 months
(d) After 5 months

The number J0.0001 is

(a) a rational number less than 0-01

| {b) a rational number

{¢} an irrational number

(d) mneither a rational number nor an
irrational number

If x:y21:8, y:z=5:k z:t=2:5 and
t:x =3:4, then what is the value of k ?

{a) 1/2

(b) 1/3
{c) 2
(d) 3

A person walks a distance in 114 days, when
he rests 9 hours a day. How long will he take
to walk twice the distance if he walks twice as
fast and rests twice as long each day as
before ?

(a) B7 days

(b) 228 days
{c) 285 days
(d) 324 days
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.EasamfﬁpaﬂqQ,'zﬁq‘iﬁ;sthR,a;ﬁq‘iﬁ:

{a) b5/2
(b) 3

() 14/5
(d) 6

U s Y 16% Tpdla &sl & W 7,500 T. JAR
fore 1 & af o Tafld R &l gom & fow I
oot BT SN 8 2

(a) 9,900 5.

(b) 10,092 3.
(¢) 11,000 .
(@ 11,052 5.

U6 AU 2 wiEfed vl 1,188 T, § gTar 2 3R
A W 10% & T FA TE W 10% B &
I & | o W o o g1 @1 ufierd fea @ 2
(a) 1% &=

() 1B

() A&y

(d) 2% &

qg gAaH T B e 42, 72 R 84 R
e & ) 39y S 25, 55 3R 67 @@
g2
{a)
(b}
(e}
(d)
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512
504
487

g% a+b=2m? b+c=6m, a+c=2 &,
e m P dRafdE GEn g AR asb < @
frfffead s es e & 2

(a) 0<m<1/2

M -1<m<0
(¢ 1/3<sm<1
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10.

(3 ~-A)

(@

35 Rt &1 24 R & 99 ™R 6,300 . 2 |
25 fgafirdl & 39 99K 3,375 &, Fam R @
g ?

(a) 12

(b) 15

() 18

(@ 21

- ve @fts P 2,525 G, & {oil § AR SRY f&ar

o 3R P& UK 9K US gERI ARG Q, 1,200 T, B
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(¢) 4¥E R
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(c) v 3T e & _
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ET
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() 2
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11. Two trains travel in the same direction at
50 km/hr and 32 km/hr respectively. A man in
the slower train observes that 15 seconds
clapse before the faster train completely
passes him, What is the length of the faster
train ?

(a) 75m

(b) 125 m

(e) . 150 m
625

(d) ~—m
3

12, In an army camp ration is available for
100 soldiers for 10 days. After 2 days,
60 soldiers joined. Then for how many more
days will the remaining ration last ?

(a) 7
(by 6
(¢} 5
(d) 4

13. Two men P and Q start from a place walking
at 35 km and 65 km per hour respectively.
What is the time they will take to be 92 km
apart if they walk in opposite directions ?

(a) 2hr '
(b) 4 hr
(¢c) 6hr
(d) 8hr
14. The number of workers in the employment
, Buaraniee scheme increased by 15 which
. resulted intoc an increase of 20%. What was
the initial number of workers ?
(a} 60
{by 75
(c) 80
(d) 90
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15.

186,

18.

{4 -A)

If the rate of interest is 10% p'er annum and
is compounded half yearly, the principal of
Rs. 400 in 3/2 years will amount to

(a) Rs. 463-00
(b) Rs. 463-05
(c) Rs. 46315
(d) Rs. 463-20

10% of the inhabitants of a certain city left
that city. Later on 10% of the remaining
inhabitants of that city again left the city.
What is the remaining percentage of
population of that city ?

(a) -80%
(b} 804%
(c) 80:6%
(d) 81%
Which one is the largest among the

following ?

(a) 0-725
(b 0725
(¢} 0725
(d) 0725

If m and n are two integers such that
m = n? - n, then (m? - 2m) is always

divisible by

(a) 9
(b) 16
{c) 24
(d) 48



11. Q¢ o3 & Ren ¥ Hur 50 kan/hr 3R 32 km/hr
B R ¥ werd ¥ | ARl wRy anh 3 ¥ o s
Yeror e @ f5 aar nfe oY 3 o) T o e
# 15 qHUs clia 8 € | o i areht 37 ot werd
TTE ?

(a) 75m
(b} 125m
() 150m

625
@ ==

12. s J-u R ¥ 100 Tt & e 10 RS @1 v
JaE & | 2 fEE & ae, 60 A ok i &
e, &t g g3 e IR fsem & aw @ ¢
(a) 7
(b 6
{c} 5
@ 4

13, @ AWM PR Q vp WH ¥ HH 5 km 3R
G5 kmud s N T A gan IR s § + o
& faadler foam f oo €, & & oH-ER A 92k R
2 & o wmg o ?

{a) 2 9.
() 44
{¢) 69,
(d) 8w,

14, TR MRS AT & JHaild SHRT & 9@ 15
g S e aRumr 20% & afg @ &
PRI B WRAIS G = o ?

(a) 60
(b) 75
(c) 80
(dy 90
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15-

116:;

17.

18.

(5 -A)

ofe &5 A R 109 affe 2 3k a7 anfafis
AT & TN &, A gALs 400 . 3/2 anf ¥
ﬁmﬁtﬂ%iﬁml?‘

(a) 463-00 &.

(b) 463-05 T,

(e} 46315 %.
(d) 463-20 .

v Fifeaa o & 10% FaRe 3 39 vk & 8
fezr | e § R & T ge Pt & 10% Parh
U7 TR BIS T | YIeR DI ST & [ wawa
g e

(a) 80%
(b) 80-4%
(c) B80-6%
(d) 81%

Frefoafen § 3 slvar oe, ved ser d ?

(@) 0725

(b) 0725

(c) 0725

(d) 0725

of m 3R n 21 qof wed o 5 m = n? - n, A

Fraforfaa ¥ ¥ 97 Shhar 2 59 8 (m? - 2m)
Tod fdwrsa & @

(a) 9

(b)y 16
() 24
(d) 48



19. A milk vendor bought 28 litres of milk at the
cost of Rs. 8-50 per litre. After adding some
water, he sold the mixture at the same price.
If he gains 12:-5%, how much water did he
add ? '

l(a) 55 litres
(b) 4-5 litres
(¢} 36 litres.
(d} 2-5 litres

20. If the ratio of x to y is 25 times the ratio
of y to %, then what is the ratio of x to y ?
(a) 1:5
(b) &5:1
{fc) 25:1
(d) 1:25

21, Out of a group of swans, 7/2 times the
square root of the number are swimming in
the pool while the two remaining are
playing outside the pool. What is the total
number of swans 7
(a} 4
by 8
{c) 12
(d) 186

22. A railway ticket for a child costs half the
full fare but the reservation charge is the
same on half ticket as much as on full
ticket. One reserved first class ticket for a
journey between two stations is Rs, 362;
one full and one half reserved first class
tickets cost Rs. 5564. What is the reservation
charge ?

{(a) Rs. 18
(b) Rs. 22
(¢) Rs. 38
{d} 'Rs. 46
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23. Students of a class are made to stand in rows.
If one student is extra in a row, there would
be two rows less. If one student is less in a
row, there would be three rows more. What is
the number of students in the class ?
{a) 65
(b) 55
{c) 60
{(d)y 50

24, What is the LCM of 3(a® ~ b% and
11 (a* -~ bH ?
{a) 33 (a3 b @2 +b%(a+h)
(b) (a®-b%) (@a%+ b (a—b)
(¢) 33(a-Db)(a®+b%- ab)(a®-1b%
(A 33(a®-b%(a*-bH

25. A number consists of two digits, whose sum is
10. If 18 is subtracted from the number, digits
‘of the number are reversed. What is the
product of digits in the number ?
(a) 15
(b) 18
() 24
(d) 32

26. If the HCF of x° - 27 and x% + 4x% + 12x + k
is a quadratic polynomial, then what is the
value of k 7
(a) 27
b)) 9
(c) 3
(dy -3

(6 - A)




190

20.

21.

22,
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U6 qY T aren 28 ®ie] gu 8-50 . Ry e ot
A W EEd & | gg ¥ o5 ae ek, o
et g a8 S & & Jmar & | afk 3 12:5% @
T BT, O I8 fosaen o e ar 2

(a) 55 ®ex '

(b) 45 A

(¢} 3-5 &R

(d) 25 #ex

g y F x & O, x A y F HOT F 25 T
g Ay ¥ x @ U T & ?

(@ 1:5

(by 5:1

(c) 25:1

{d 1:25

'mmwﬁ@,mmmmmwﬂﬂ

g aed ¥ R @ E 9P I & €9 Ao b

R WA ® | S B o den fhe @ 2

(a) 4
b 8

{cy 12
@ 16

U g & fow Ioe Rae o dma R e &
el & w=g sRevT o Y B @ e & @
o f6 R Bae & 1 2 KAl & @iw wem Ao
RIS o & ow owe 362 6. @ & AW EE W
3R e Y IRfda ww Ao Rec & dma
554 . & | ARV Ye fbe € ?

(a) 18 3.

(b) 22%.

() 387,

(d) 46 5. -

23.

24,

25.

26.

" () 33(a-b)(aZ+b’-

o el & fama) & ufepdl ¥ e oo man # |
oz i § v o} aftes @, O & dfvedt @
gl | afs ife ¥ ve faaedt & <@, o I dfwdl
e g | wan 7 Renfat o v ®n g 2

(a) 65
(by 55

{¢) 60

d) 50

3(a® - b%) 3k 11 (a* - b T AW FRmEA
(LCM) ®T ¥ ?

(@) 33@-bH@E%2+Db%H(a+b)

® (@ -bH@%+b?(a-b)
ab) (a® - b®)

(d) 33(a3—Db3)(at—bH

TP W W Fe @ & B doee 10 ) ok

T W ¥ 18 Uerar ST &, | & & 3P Iapihd

BT E | G & 3T o IO & P

(a) 15
(b) 18 -
(c) 24
d 32

T «® - 27 AR 3+ 4x® 4 12x + kT HEEH
Taas (HCF) oh fGund ague &, & k & |9
TR ? :

(a) 27
(by 9

(c) 3

D -3

{7 - A)




27. . When x%0 + 2 is divided by x* + 1, whatis
the remainder ?
(a) 1
by 2
(e) 3
(d) 4
28. Which one o.f the following statements is
correct 7
(a) Remainder theorem is a special case of
Factor theorem.
(b} Factor theorem is a special. case of
Remainder theorem. )
(¢) Factor theorem and Remainder theorem
arc two independent results,
(d) None of the above
29. I x=2+43 , then whatis (x%+ x‘zl) equal
to ? '
(a) 12
(b) 13
(c) 14
d 15
30. What is the ratio of sum of squares of roots
to the product of the roots of the equation
Tx2 4+ 12x + 18 =0 7.
(a) 6:1
b) 1:6
¢y -6:1
(dy -1:6
31. When a polynomial is divided by a linear
polynomial, then what is the remainder ?
(a) Constant polynomial only
(b} Zero polynomial only
{c) .Either constant or zero polynomial
{(d) Linear polynomial
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32.

33.

34.

(8 - A)

If a¥=b"=c* and abc = 1, then what is
Xy + ¥z + zx equal to ?

{a) xyz

(b) x+y+z°
(c)- O

(d 1

If (3-7)* = (0-:037) = 10000, then what is the

value of 11 ?
X ¥y

(a) 1
(b) 2
) 1/2

- {dy 1/4

The following table shows the percentage of
male and female coffee drinkers and
non-coffee drinkers in two Towns A and B :

Town-A Town-B
Attributes own b
Male | Female | Male | Female
Coffee 0% | 5% | 25% | 15%
drinkers
Non-coffee | o5 | 350, | 300 | 30%
drinkers .

If the total population of the Towns A and B
be 10,000 and 20,000 respectively, then what
is the total number of female ¢offee drinkers
in both towns ?

(a) 8,000
(b} 6,000
{c) 3,500
(d) 2,500




27.
<l Swwe T E P
(a)- 1
(b) 2
{c) 3
d) -4 |
28. fFrffmm iy smr s sm wdi 2 ?
; @ o s, s v i R R
| |
(b) TUMEYE W, s&wuﬁuﬁ%&wﬁmﬁﬁ
g1
(c) ToHETE a3k ?lw W A WWad | -
CoRom R
(d) IfE ¥ A Dg 7
29. gl x=2+3 & @ F+x?) T
g7
(a) 12
(b 13
(¢) 14
(d) 156 _
30. wHGRYT 7x% + 12x + 18 = 0 & T & PrwA I
el 6 T & AHA B I AT F P
(a) 6:1
by 1:6
() -6:1
(d -1:6 _
31. ol ve ew sg0a g US ague @ fawrfea R
el 8, & ume o g P
(a) T IR ]IS
| (b) ¥EA IFG TG
| (c) o1 A R AT gLT 980
(@) e Tguw

|
|
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g 0+ 2 @ x*+ 1 grr wisE fear s &,

32

{9 - A)

, aF a¥=bY
fad sET e ?

33.

(@

34.

IEI-A ET-B
o7

] @ oy EZ 1

masm% bl 40% 5% 25% | 15%

mai' AT oom | 5% | 20% | 30%

(d)

=c? 3R abc=1 &, a Xy + VZ + 2X

(a) xyvz
b) x+y+z
(e} O

(dy 1

s (3-7 = (0-037) = 10000, @ —-% ot
AR TR ?

(a) 1-

NORE:
(e  1/2

1/4

3 o A3l B ¥ S O e s BT = O
awt gent i e @t sfteraen 2y arh e
Sy & 2

afe @ wRi A 3R B & oA e HHEE
10,000 3% 20,000 &, a1 24 e} o I T

' arel el o et wer @ & ?

. {a) 8,000 -

(b) 6,000
© 3,500

2,500



Ir a=1+—x, then whatis 1 + Za+1
2-x a+l a%2.1

equal to ?

(1+x)(2+x)

(a) 2% — 1

(1-x)(2-x)

(B) x-2

1+ x)(2-x)

{
() w1

(1-x)(2~x)

@ 2x+1

If pg+qr+rp=0, then ﬁzhat is the value of
02 . q2 . 2 ) .
2 2 2 ;
p-—ar —Ip r—-pq
(a) O
by 1
(c) -1
d) 3

The length of’ a line segment AB is 2 units. It
is divided into two parts at the point C such
that AC% = AB x CB. What is the length of
CB?

(a) 3+ «./g units
(b) 3 - J5 units
(€} 2- 5 units
(d V3 units

If x+y+2z=0, then what is the value of

1

2 2

?
X°+y® -z -~ z°+x —y2
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What is the value of k for which the system of
equations x + 2y -3 =0 and 5x + ky + 7 =0
has no solution ?

(a) -3/14
(b) —14/3
© 1/10
(d 10

For two natural numbers m and n, let Bmn
denote the greatest common factor of m and 1 n
Consider the following in respect of three
natural! numbers k, m and n :

1 gm(nk) g(mn)k
2._ Emn8nk = gmk

“Which of the above is/are correct ?

(a) 1 only

(b) 2 only

(c) Both1land 2
(d) Neither 1 nor 2

- x-piy-2P +z-x)?
What is Py Yy —

(a) -—3/4

equal to ?

(by 1/4
() 3/4
(d) ©

If the roots of the eguation

xiiiﬁ (*ngn_l;)l) = = are equal, then what

is the value of m ?

{(a} 1
(by 1/2
(c) O
(d) -1/2




36.

36.

(b

oW a= X E @

2—-x

T|ERE ?

1+x)(2+x)

(a) 2% — 1

1-%)(2—x)
x—-2

1+x){(Z2-x)

(c) o1

(1-x)(2-x)

) 2x + 1

ok pq+qgr+rp=0 & @

p? a® -2

+ +
p’ —qr - r? - pq

- FAAFITE ?
q“ - rp
(a)
{(b)
{e)
(d)

. -%QETWABH?TW2Q?TZ?I%’%CWH€

& wolt & o fawfoa & @ f5 AC? = AB x CB.
CB & ¢iars o & ?

(a) 3+ 45 gfe

b 3-J5 g

© 2-5 e

@ 3 gfe -

e x+y+z=0 2, @

1 + 1 + -1
27 3242 2 Zaxl_yt

x2+y2—z

B AN T & ?

. 1
by 1
(e) -1

(d 0

{a)
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kA e oas e x+ 2y -3=0 3k
5x + ky + 7 = 0 FHavil & Fiora & oF g 78
g ?

(a) -3/14 -

(b) -14/3

() 1/10 |

(d) 10
ﬁTWWmSﬁTn%%EWEﬁ%!E%mmn

&I AEaH qeE® g @ Aifod e @ | 99 e
Ui k, m 3R n & "o A FefoRes = foow
#Hifore -

1. Bmink) = Etmn)k
2.

€mnBnk = Bmk

g § § SRR v &8 2
(a) dad 1 '
(b) o 2

(© 13k 23

(d TaAr13RTE2

=+ -2 +-x° frae aeX & 7
Aa{x —y)(y-2z)(z—x)

(a) -3/4
(b) 1/4
(c) 3/4
(d 0

gie THIHIOT
x(x-D-(m+1 _
x-D(m-1)
AT @I ?

{(a) 1

(b) 1/2

{cy O
@y -1/2

X .
~ & e WeR &, dl m 3




1 ) 1
43. If x= (a+\/a2+b3)3 +(a—\fa2+b3)3,

then what is the value of x® + 3bx — 2a ?

(a) 2ad
(b) -2ad
() 1

(d) 0

44. What least value must be given to ® so that
the number 8470582 is divisible by 9 ?

(a) O
(b) 1
() 2
(dy 3

45. If p is an integer, then every square integer is
of the form

(a) 2p or 4p-1)
(b) 4dp.or (4p-1)
(e} 3p or Bp+ 1)
(d) 4p or (4p+ 1)

46. The paint in a certain container is sufficient
to paint an area equal to 5-875 m?. How many
bricks of dimensions 125 cm x 10 ¢cm x 7'5 em
can be painted out of this container ?

(a} 225
(b} 180
{c) 150
{d) 100

47. The ratio of volumes of two cones is 4 : 5 and
the ratio of the radii of their bases is 2 : 3.
What is the ratio of their vertical heights ?

(a) §5:6
(b)) 6:5
{(c) 9:5
(dy 5:9
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48,

49,

50.

51.

(12 - A)

A right triangle ABC with sides 5 em, 12 cm
and 13 cm is revolved about the side 12 cm.
What is the volume of the solid so obtained ?

(a) 5071 cm®

(b) 1001 cm?
(¢) 125n cm®
(@ 150n em®

How many litres of water flow out of a pipe

having an area of cross-section of 5 cm? in
one minute, if the speed of water in the pipe is
30 cm/sed ?

(a) 90 litres

(b) 15 litres

(¢) 9 litres

{(d) 15 litres

A wire is in the form of a circle of radius
42 cm, If it is bent into a square, then what is
the side of the square ?

(a) 66 cm
(by 42 em
(c) 36cm
(d) 33 cm

A B

o/ s/ W
p ) ’ a
AN AAY
D T C

Seven semi-circular areas are removed from
the rectangle ABCI) as shown in the figure
above, in which AB = 2 cm and AD = 0-5 cm.
The radius of each semi-circle r, s, t, u, v is
half of that of semi-circle p or q. What is the
area of the remaining portion ?

(a) (128 - 137)/128 cm?
®) (125 — 137)/125 cm?
(c) (128 — 15m)/128 cm?
{(d) None of the above




43.

44.

45,

46,

47,
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@V x% +3bx~2a PIAT TTE ?

(a) 2a°

® % foe ogam 7 aar R s aifte Rrwy
84705®@2 & 99 fawmsa & »

(a)
(b)
(c)
(d)
aﬁ:przasguﬁa%‘ ?ﬁmaﬁgm‘iaia’i‘mﬂsﬂﬁ

TR P

VI SR R e

(a) 2p 91 (4p-1)
(b 4dp ar 4p-1)
(¢) 3p 4l (3p +1)
(d) 4p T (4p + 1)
e FRea um A o fe B A 5875 m? B
TR AT S feesa s gad 1wicd

125cmx10cmx75cmﬁmaﬁ%ﬁ=ﬁ§€ﬁ"€
ol 1

(a) 225
(b) 180
(¢) 150
(@ 100

g1 w3l ¥ gl B U 4 ;5 & sk 3
smeR sl & seEa 2 3 € | S FahR
Sargdl & U T 8 ?

(a) 5:6

(b 6:5

) 9:5

(d 5:9

49,

50.

51.

{13 - A

48.

gfe x = (a+\laz+b3)_?1:+(a-—\laz+b3)% g,

g6 ol st ABC it 4o 5 cm, 12 em
3R 13 cm & &, 12 cm TN YT F IRe WRepHTT
FHRAT & | 59 YOR T YIS SR & 37a a7 & ?

(a) 50m em?

(b) 100n cm?
{¢) 1257 cm®
(d 150m cm?

aie v By &1 IrgR-ufRede &1 435 5 cm? #
3R gET A o H%ﬂl‘(”fBOcmfsec?,Fhmgq'@l
1 fiFe W e olieX O aTex @8 ?

(a) 90 X
(b) 15 e
() 9 ®ex

(@ 15 dex

TS IR 42 em s e gu S R A | Ak 3q.
vE o % PR W Hgr I g, a‘rmaﬁaﬁ’rgm

fosar 2ot 2
{a} 66 c¢m
(b) 42 ¢m
{c) 36 cm
(d) 33 cm

A B
N AV AANY,

AT A
D _ c

3w o o zefe sg9R smud ABCD ¥ W@
g e BT R mar g | AB=2cm 3k
AD=05cm® | V@S 3efga 1, s, t, u, v &l
B adgd parg S SN | W
I &7 SFAGA o & 2

(@) (128 — 13m)/128 cm?>

(b) (125 — 137)/125 cm?
(¢) (128 - 15m)/128 cm?

() s § F PE T




If the radius of the base and the height of
a right circular cone are increased by 20%,
then what is the approximate percentage

increase in volume ?

(a) 60
(b) 68
(c) 73
{dy 75
53.
/// //////l"lo
y 7\
wy
PQRS is a diameter of a circlg of _radius
6 cm as shown in the figure above. The
lengths PQ, QR and RS are equal
Semi-circles are drawn on PQ and QS as
diameters. What is the perimeter of the
shaded region ?
(a) 12n
(b} 1l4n
(c) 16n
(d) 18n
54. How many litres of water (approximately)
can a hemispherical container of radius
21 em hold ?
(a) 194
(b) 388
(c) 194
(d) 388
P-DETB-J-FN

55.

56.

57.

58.

{14 - A ).

A bucket which is in the form of a frustum of
a cone, has radii 3 and 5 units and vertical

-height 6 units. How much water can the

bucket hold ?

. (@) 33n cubic units -

(b) 45n cubic units
{c} 48n cubic units
{d) None of the above

ABC is a triangle right-angled at C. If p is
the length of the perpendicular from C to
AB and a, b, ¢ are the sides, then which
one of the following is correct ?

(a) pa=bc
| (b) pb = ca
{(¢) pc=ab
(d) p?=ab

A person rides a bicycle round a circular
path of radius 50 m. The radius of the
wheel of the bicycle is 50 c¢cm. The cycle
comes to the starting point for the first

‘time in 1 hour. What is the number of

revolutions of the wheel in 15 minutes ?

(a) 20
(b) 25
() 30
(d) 35

A cylindrical can of internal diameter 24 cm
contains water. A solid sphere of radius
6 cm 1s completely immersed in water in

the cylinder. The water level increases by

(a) 025 cm

(b) 05 cm
(c) 2 cm

{(d) 3 cm




52,

53.

‘54,
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o v degua g @ neR Fe ik da #
20% B dfg & & T T, A TS e A
wfaee wiowa ofe = & »

{a) 60

(b} 68

(e} 73

(dy 75

IR O
e Bsar 6 em € | PQ, QR 3R RS &
dargdi sk & | PQ 3R QS @@ @ snfEw
e e € ) wifta & @ R\ e @ 2

{a) 12n
(b) 14m
{c) 16=n

(d} 18n

-Eﬁmmmﬁ,%ﬂaﬁﬁmzlcﬁé,

e TR -aiAT (FTET) 37 Gdbar & ?

T (a} 194

(by 388
(c) 194

(d) 388

55.

56,

57.

58.

{18 - A}

o5 & fou® NER el Sy & s 3 ek
5 god 3R FearR Fu 6 3o & | 9y F
fosaen ol 3 Tear & 2

(a) 33n O 315

(b) 45nEF B
(c) 487 97 B

() 39S T F Bf

vs fAyst ABC, C R wdifors & 1 ofd ¢ ¥ AB
W Ee B HEs p € AR a, b, ¢ YW &, @
ﬁwﬁiﬁaﬁ@rmwﬂé’r%?

(a) pa=be
{(b) pb=ca
{c) pc=ab
(d) p?=ab

Us s ARfea R 9aR U guid 12 W), 5er
frson 50 m @1 2, 91 @ 2 | wsfee & ke o
Prsar 50 em 2 | TRk Arsfea @y g w® O
TE R M ¥ 1 "l aen 2, o 15 e ¥ ofee
& uReprol & HE& aa P

(a) 20

(b) 25

{c)y 30
(d) 35

T BRI (B9) ¥, e N9l & 24 em
g UV E | UF 6 cm e g o/ 0w @ e
& § O oRe g@ar I € | 99 wR ¥ afg
fr g8 ? .

{(a) 025 cm

by 05em .

¢ 2cm

(d 3em




If a sphere of radius 10 c¢m is intersected by a
plane at a distance 8 em from its centre, what
is the radius of the curve of intersection of the
plane and the sphere ?

(a) 8cm

(b} 6 cm

(e) 5 cm

(d) 4 cm

From a cylindrical log whose height is equal
to its diameter, the greatest possible sphere
has been taken out. What is the fraction of the
original log which is cut away ?

(a) 1/2
(by 1/3
) 1/4

(d) 2/3

. . In the triangle ABC, AB = 2 cm, BC =3 ¢cm

and AC = 4 ¢cm. D is the middie point of AC.
If a square is constructed on the side BD,
what is the area of the square ?

(a) 45 em?

(b) 25 cm*

(c) 625 cm?

(d) Nonec of the above

A solid cone of height 8 cm and base radius
6 cm is melted and recast into identical cones,
each of height 2 cm and radius 1 cm. What is
the number of cones formed ?

{a} 36
(b} 72
(c)
(d)

P-DETB-J-FN

T

In the figure given above, PT is a tangent to
a circle of radius 6 ¢m. If P is at a distance

©of 10 em from the centre O and PB = 5 em;

then what is the length of the chord BC ?

(@) T8em

(b)Y &0 cm
(c) 84cm

. (d) 90 cm

A point P moves such that its distances

. from two given points A and B are equal.

Then what is the locus of the point P ?

(a) A straight line which is the right

bisector of AB
(b) A circle with céntre at A
(c) - A circle with centre.at B

(d) A straight line passing through either A
or B

ABC is a triangle. X is a point outside the
triangle ABC such that CD = CX, where D
is the point of intersection of BC and AX;
and ZBAX = ZXAC. Which one of the
following is correct ?

(a) Triangles ABD, ACX are similar
(b) £ ABD < £ ACD
(¢c) AC=CX

(d) ZADB > £ DXC




59.

60.

61.

62,
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TE 9Uad, T 10 em Gmm @@ Ma &
% ¥ 8 om T W aRedeT oRar & | e
TAGA & IR 9 o Bt &g ?

8 cm
6 cm
(c)- 5 cm

(d)

4 cm

Ud SeMIER A5 9, Sad o8 396 I & §eR

2, ve Iifoa e e e foar man @ | gmag |

&1 a4 3791 &Ie & 3 far T g 2
(a) 1/2

(b)' 1/3

© 14

(d 2/3

%gaABcﬁ, AB=2cm, BC=3cm 3R
AC=4cm ¥ | ACH "e-fag D & | AR om

BD R 06 o & 5T o e €, aF @ & &Ema

FE?
(a) 45 cm?
(b)
(c) 625 cm?

@ s F Y o

2-5 cm?

ﬁﬂﬁScmSﬂTM%ﬁT.ﬁcmmﬁEﬁm?@
o fHeeR 39, 180, JaR FFr 1 em 3R S8
2 cm a FAEH AHH W G grem onen & | b
T3l B T TR P

(a) 36
by 72

() 144

{d) 180

(17 - A}

63.

64.

65.

R fig v "m ¥ 6 cm s O vw g9 o '
T PTR I aRPH SZOA G 10 om B
aﬂi’.PB:Scm%,FﬁSﬂﬁTBCaﬁﬁﬁﬁﬂT??

(a)
(b)
(¢} 84cm

(d)

7-8 em
80 cm

9-0 cm

e fog P 39 woR gaar @ {6 & fav e fog A
IR B 390 g 999 W ¢ | 79 oG P @

g s g ? _

vS TRl 3@ 5 AB & digaq Rwws #
(b) TP g foam Hw AR

(c) U g forae &= B

UF WA 1@ S A A A B ERar @

(a)

(d)

ABCus a2 | Byg ABCa tas 7 fag X
tw & & CD = CX, o5& D, BC 3R AX &
tRee fog & 3k £ BAX = £ XAC. FafaRa
¥ Bl v wE 2 ?

g ABD 3R frgsr ACX e &
Z ABD < ZACD -

(a)
(b)
{¢) AC =CX

(d) £ ADB > £ DXC




66,

Consider the following statements :
1. Congruent triangles are similar.
2.  Similar triangles are congruent.

3. If the hypotenuse and a side of one
~ right triangle are equal to the
hypotenuse and a side of another right
triangle respectively, then the two right
triangles are congruent,

Which of the statements given above is/are
correct ?

(a) 1 only
{b) 2 only
(c) 2and3
{d) 1and3

67. ABC is a triangle and the perpendicular
drawn from A meets BC in D. If
AD? = BD . DC, then which one of the
following is correct ? '

(a) ABC must be an obtuse angled triangle
(b) ADBC must be an acute éngled triangle
(¢) Either £« B 2 45° or £ C = 45°

- (d) AC?=AB?4+BC? -

68. ABC is a triangle in which AB = AC. Let
BC be produced to D. From a point E on
the line AC 1let EF be a straight line
such that EF is parallel to AB. Consider
the ql_xadrilateral ECDF thus  formed. If
Z ABC = 65° and £ EFD = 80°, then what
is £ FDC equal to ?

(a) 43°
(b) 41°
() 37°
(d) 35°
P-DETB-J-FN

69.

70.

71.

(18 - A)

The bisectors of the angles ABC and BCA
of a triangle ABC meet in a point Q. What
is the angle at O facing the side BC ?

(a) 90° —(A/2)

®)  90° + (A/2)

{c) 90°-A

(d) 90°+ A |

What is the number of points in the plane
of a triangle ABC which are at equal
distance from the vertices of the triangle ?

(a) 0
by 1
{c) 2
(dy 3
Q
P/\R
X
Or
Z
y
U T v

In the figure given above, O is the centre of
the circle. The line UTV is a tangent to the
circie at T, £ VTR = 52° and triangle PTR is
an 1sosceles triangle such that TP = TR. What
is Zx+Z2Zy+ Zz equal to?

(a) 175°
(b) 208°
(c) 218°
(d)

250°




66. Frfafed sl wR far e -

1. watman Bys g € |

2. wey s gatmem & |

3. U GHSIU AYS & U AR TS e, T
T Brgst & &9 3R o 4o &
weR §, @ 2 awewr Brys aafrem & |

I wuE A B W w4 e

(a) ®aa 1l '

(b) ®ae 2

© 2R3

(@ 13Kk 3

67. ABCTG gk AN o i de BCI D
feg W femr 2 1 afe AD? = BD.DC, @
frefafag A s v ad &

(a) ABC v aiftre @ior Brgs & 2
(b) ABC t& = o7 g & &
(c) WA £LB245T1 L C 245°
"(d) AC?= AB? 4+ BC?

68. ©EH B ABC # Bl AB = AC# | BC @1 D
a® TGl SR & | W AC R TS fag E F AB
¥ HHioR e 341 EF € | 9 yoR Fia ags
ECDF R faur #ifiw | a® £ ABC = 65° 3R
Z EFD = 80°, & £ FDC fra® s & ?

{a) 43°
(b) 41°
(@ 37
(d) 35°
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69,

70.

71.

(19 - A

& fyst ABC % Pt ABC 3k BCA ¥ s
fog O W firerd € 1 45T BC & ¥9@ O W &0
FATE ? :

(a) 90° - (A/2)
b) 90° + (A/2)
{(c) 90°—- A

(d) 90° + A

s ABC ¥ oot # 3 gl & v @ @ o

By s A AT g =& ?

. (a) O
by 1
(e) 2
.(d) 3
Q
LN,
. O
A
y‘
U T v

IRRe M RFdgadE S 08 1 W UTV §w
@ Tl 3@ T W &, £ VTR = 52° 3R fin[s PTR
v Wifgarg R &, SH VSR 5 TP =TRE |

Lx+Zy+ 2Lz o R & ?
(a) 175°
(b) 208°
(c) 218°

(d) 250°




In the figure given above, 2 AOB = 46°; AC
and OB intersect each other at right angles.
What is the measure of ~ OBC ? (O is the
centre of the circle)

(a) 44°

(by 46°
(¢) 67°

(d) 785°

73. Ao F B

H

60° 50°
C £ D

In the figure AB is parallel to CD and BE is
parailel to FH. What is £ FHE equal to ?

110°

{(a)

{(b) 120°

(c) 125°

(d) 130°
P-DETB-J-FN

75.

76..

{20 - A}

A X B

In the figure given above, ABCD is a square in
which AQ = AX. What is « XOB ?

(a) 225°
(by 25°
(c) 30°
(dy 45°

The quadrilateral formed by joining the
mid-points of the sides AB, BC, CD, DA of
a quadrilateral ABCD is

{a) a trapezium but not a parallelogram
(b) a quadrilateral but not a trapezium
(¢) a parallelogram only

{d) a rhombus

In the figure given above, O is the centre of
the circle and £ AOD = 106°. What is £ BCD
equal to ?

(a) 53°
{(b) 43°
(c) 40°
(d) 37°




72. 74,
‘/ ’
A--lll'lB
IR fie e o d, £ AOB = 46° AC 3k OB
WRER IO W BRI E | £ OBC & AY a7
ACEEE k&)
(a) 44°
(b) 46°
(e} 67 75.
{(dy 78-5°
73. A F B
H
. 76.
60° 50
C 5 D
R % AB, CD & wwieR € 3k BE, FH % 4]
2 | £ FHE fyas aua @ ?
'(a) 110°
(b) 120°
() 125°
{(d) 130°
P-DETB-J-FN {21 - A)

A e B

TR Ry ftm ¥, ABCD v aff & s
AO=AX2| 2XOBfruas Ut & ?

(a) 22-5°
(b) 25°
{¢) 30°
(d) 45°

Tqds ABCD @ AB, BC, CD, DA y=msli &
weg-famgait 1 e @ Ffife aqpis e & 2
(a) US woel o IR T

) vs Tgs e wei Ad

(c) had g9’ agys

(d) U©H HHRIYST

L

A

IR Re m® fm §, ga &t ¢ 0 & 3k
ZAOD=106°% | . BCD foas sxra & 2
(a) 58°

(b) 43°

(c) 40°

(dy 37°



77. If cot 8 = 8/15, then -what is the value of
1-cos® where 8 is a positive acute angle ?
1+cosB

(a) 1/
(b) 2/5
(e) 35
(d) 4/5
78. What is the angle subtended at the centre of
a circle of radius 8 metres after traversing
4n metres along its circumference ?
(a) =n/3
(b} m/2
() 2n/3
(d) 3n/4
79. Consider the following :
1 cos?9 — sinZ0 _
cos?® + sin?@ ‘
cos2@ (1 + tan 8) (1 — tan 8)
2. M = (tan B + sec 0)°
1 - sin 0
Which of the statements given above is/are
correct 7
(a) 1 only
(b) 2 only
(¢) Both 1 and 2
(d) Neither 1 nor 2
go, %8 _ 8 _ 5 s satisfied by which
" 1-sin® 1+sin® yw
one of the following values of 6 ?
(a) m/2
b n/3
(¢) m/4
(d) n/6
" P-DETB-J-FN

81l

82,

83.

84.

(22 - A)

The difference of the two angles in degree
measure is 1 and their sum in circular
measure is also 1. What are the angles in
circular measure ?

(3~ 3+ %)
@[5 - =) o+ o
A2 360 2 360
o (-2
2 7 2 T

[1 n)(1 n)
© [=- 2=} (3+ =
2 180 2 180

(d) None of these

If 0<x <45 and 45° <y < 90°, then which
one of the following is correct ?

(a)
{(b)

(c) sinx>siny

sinx=siny

sin X < sin y
(d) sinx<siny
What is the value of

sin3 60° cot 30° -2 sec2 45° +
3 cos 60° tan 45° — tanZ 60° ?

(a) 35/8
(b) -35/8
(c) -11/8
@ 11/8

If tan 8 = %, then what is

psecH — gcosech

equal to ?
psecd + qcosecO

(@) E-9
ptq
2 2
(b) 32;132_
- qT+p
2 2
© =1
q +p
@ 1




77.

78,

79,

80.
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l-cosB
1+cosO '
IS <A DIVT §, B 7 a1 @ P

a® cot 6 = 8/15, @

S8l 0 Uh

(a) 1/5
by 2/5
() 3/5
(d 4/5

fis 8 rex A g9 & WRRI W 4n Bex ST

F 4E §9 $ BE W IaRka SoT 79 & ?
(a) n/3

(b} m/2

(¢} 2n/3

(d) 3n/4

frfeRea = R 5w
cos?® — sin?0 _
cos?8 + sin?0

cos2 0 (1 + tan 8) (1 — tan @)

1.

1+sin@
l-siné&

I B § ¥ o [ a9 g8 2
(a) @&ad 1

(b) &ada 2

(@ 13k 22+

d Far13kRaId2

= (tan @ + sec 6)2

fafefea # ¥ 0 & o9 & 99 & g

cos O cos 8

1-sin6 -ZW@W??

1+sin@

(a) m/2
(b) =n/3
() mf4
d) n/6

81.

82,

83.

84,

({23 - A)

2 PO & B m § iR 12 3k e e
A AN A M 18 | g aw oty € ?

' 1 n 1 T
o (-3}
2 360 2 360
o [L- 0) (1, %)
2 14 2 4

(1 n)[l 1:)
© |=-—7h|lz+—
‘ 2 180 2 180

(d) 0§ B AG

gt 0 <x < 45° 3R 45° <y < 90°, &

freffea A s es v & »

(a) sinx=siny

{(b)
(¢} sinx>siny

sin X < sin y
(d) sinx<siny
sin® 60° cot 30° — 2 sec? 45° +

. 3 cos 60° tan 45° — tan? 60°
AR ?

(a) 35/8
(b) -35/8
(¢) -11/8
(d) 11/8
P psecH — qcosecH

af%  tan 6 = q g @ psecHd + qcosecd
e TR § ? '
(a) P—q

p+q

2.2
® L—F

a®+p
' 2 2
() p_z_iz

q-+p
d 1




85. The value of cosec?6 — 2 + sin?0 is
always
(a) less than zero
(b) non-negative
(c) zero
d) 1
86. If cot@= 22xy 5 then- what is cos 8 equal
X%~y
to ?
x% — y2
(a) 5%
X ‘\“y
x2 4 y2
b) ———=
X% —y4
(c) 22xy 5
X +y
2
@ =X __
. {xz +y2
87. The length of the shadow of a person s cm
tall when the angle of clevation of the sun
is.a is'p em. It is @ cm -when the angle
of elevation of the sun is B. Which one of
the foliowing is correct when B = 3o ?
(a) _q=s tan o — tan 3a
P - tan 3o tan o
.{tan 3o, — tan ¢
b —-q=8
® P =2 3tan3atana]
(© p-g=s tan 30 — tan g
4= tan 3o tan o
' tan 2¢
d ~Q=8|—
@ p-a tanBatana)
P-DETB-J-FN

88.

89.

920.

91,

92,

(24 - A)

The angles of a triangle are in AP and the .
greatest angle is double the least. What is the
ratio of ‘angles in the radian measure ?

{(a)- 2:3:4

by 1:2:3
(e 3:4:6
(d) 4:56:7

For what value of 0, is (sin 8 + cosec 8) = 2-5
where 0 <8 <90° ? :

(a) 30°
®) 45°
© 60°
(@ 90°

If 0 <8 < ¢ < 90° then which one of the
following is correct ?

(a) (sin O + cos 6)2 > 2
(b) (sin®0 + cos? $) <2
(¢) (sin%0 + cos®¢) < 2 ,
(d) (sin?0 + cos? ) > 2

Which one of the following is not correct in
respect of the sets Aand B 7

(a) IfAcCB, themn BUA=B

(b) IfACB, then AN(A-B)=¢

() HAcB, then BNA=A '
(d) If AN B=¢, then either A=¢ or

B =9

A boy travels a distance of 8 km at the rate of
4 km per hour, 6 km at the rate of 3 km per
hour and 4 km at the rate of 2 km per hour.
What is the average speed for the entire
journey ?

{(a) 2 kmph
(b) 3 kmph
(¢} 4 kmph
'(d) 6 kmph




85. cosec? 0 -2 +sin® @ H Y BFAT A AT E P
(a) '
(b)

T T
FORR

86. Tt cot =

i ?hcpsﬂ foas R

x2 _y2
(a) o 5
X +y

x2+y2
CxEyE

" (b}

() 22xy

X +y2

2xy

'\}Xz + y2

(d)

87. U& s cm @d =fe B WIGRT @ @& p cm 2,
5@ Y IFIT BT o 8 | 98 q cm TEE P
A & 59 9 & 39 I B2 | FrefeiRag o
%aﬁhweaﬂ?r%,aaﬁsﬁﬂa?

tan o — tan 3(1)

{a) =s
P-4 ( tan 3ot tan o

_ tan 3o — tan o
P=a= 3 tan 3o tan o
5 tan 3o — tan o
p- q tan 3o tan o
- tan 2€x .
p-a= tan 30‘. tan o
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88.

89.

90.

91.

92,

{ 26 - A}

(b

(a)

- (a)

(@)

vd By & SIor TieR Sof (AP) % & 3R wa ) w31
BT [ BIE 0T BT g 2 | Iaw W F it

&1 AU T & ?
{a) 2:3:4

G ok N W

1 3
{¢c) 3:4:6
{(d}y .4 7

0 & fvw o & fore (sin 6 + cosec ) = 2-5 BT
2 36 0<0<90° ?

30°

(b) 45°

{c) &0°

{d} 90°

gl 0<0<¢<90°, o iR # % s es
TP

(a) (sin 8 + cos 0)% > 2

(b) (s5in2@ + cos? ¢) < 2

(¢) (sin?0 + cos? ) < 2

(d)
et A 3k B & e PrehiRes ¥ 3 o o
LU A3

afe AcB, @ BUA=B

(b) Tl AcB, @ AN(A-B)=¢

(). 9% AcB, & BnA=A

d de ANB=¢,@A@AA=0¢
B=2¢

(sin% 6 + cos? o) > 2

UH FE 8 km @ g8 4 km R HeT @ W 9,
6 km B g0 3 km ¥R beT B R ¥ IR 4 km B
g0 2 km 0 981 B R ¥ a7 I & | @ T
& i e @ @ ?

(a) 2kmph_

(b) 3 kmph

(¢} 4 kmph

kaph'



93.

What is the value of
[log, ;(10)]/ [log,¢o(10) ] 2

(a} 1/2
(b)y 2
(c} 1
(d) logm 13
94, There are four numbers forming a GP in
which the third term is greater than the first
by 9 and the second term is greater than the
fourth by 18. What is the first term ?
{a) 2
(b) 3
() -2
(d) -3
95. If 27 x (81)2™3 _ 3™ _ 0, then what is m
equal to 7 :
(a) 2n+5
(b) 5n + 6
(¢ 8n+ 3
(d) 8n+ 15
96. Consider the following pairs of numbers :
1. (8, 12)
2. (9,11
3. (6, 24)
Which pairs of numbers have the same
harmonic mean ?
(a) | 1 and 2.0only
(b) 2 and 3 only
{c) 1 and 3 only
(d}y 1,2and 3
P-DETB-J-FN

97.

98.

99,

100.

{26 — A)

‘ (a)

The median of three positive integers, no two
of which are equal, is 5. What is the least

" possible value of the arithmetic mean of these

integers 7
fa) 2
(b) 3
{(c) 4

(d)

No such least possible value exists

Which one of the following can be obtained
from a histogram ?

Mean
(b) Median
(¢} Mode .
(d) None of the above -

Examples of data are given below :

1. Information on households collected by
an investigator by door-to-door visits.

2. Data on the percentage of literates,
sex-wise, for the different districts of a
state collected from records of the
census of India. '

3. General infermation about families,
collected by telephonic interviews.

Which one of the following in respect of the
above is correct ?

(a) Only-1 and 2 are primary data

(b)- Only 1 and 3 are primary data

(¢) Only 2 and 3 are primary data

{(d) 1, 2 and 3 are primary data

What is the geometric mean of the
- observations 125, 729, 1331 ?

(a) 495

(b) 1485

(c) 2221

{(d) None of the above




[ log,5(10)] / [ log,5o(10) 1 & AF @@ & ?

(a) 1/2

(b) 2
cy 1
(d)

log,, 13

- 94, UF OIRR S0 (GP) T g€ TR W & it
arRT vE, W e ¥ 9 e 2, ik gmw oy, 9

wAIsMMEE I m e T d ?

(a) 2
(b 3
(c)

95. 3aft 27 x (8123 . 3™ =0 &, @ m foud
TWER & ?
(a) 2n+5
(b) 5n+6
(o) 8n + 3
(d) 8n + 15
96. fr=fafad demsit & g «) fiaRr $ifse -
L 812
2. (9, 11)
3. (6, 24)
T g S ERAS AA W B & ?
(a) Waw 13k 2
b) FaweaR3’
(¢) ael 1 3R 3
1,233

(d)

P-DETB-J-FN

99.

100.

@

@

a9 o= gof wwemd &, Gl & 9 & dent wme
e €, mitaer 5 | 39 quifel & [HieR W o
AR UG U TR ?

(a) 2

b) 3

() 4 .
ﬁw%mwaﬁéaﬁa&ﬂﬁ%
fFr=fiRaa & 9§ o9 vs, sxma%a%mﬁm
I aHar § P

(a)
(b)
()
(d)

e
iftaet

dgCTEH
3w 4§ B T

3Bgl & FaTexor A few e # _
1. 34Y® ERI GR-BR IR Hufed e-uRa=
fawa® @ |

2. mﬁm%sﬁé@#,@%r—ru&s
=g & fafim et & e, fom-ar, el &
wRygaar TrEeeh e |

3. oUW WaATeRI g} wufed okl & aR &
Gisisaeo il

s v ¥ Fefefes § @ s w v

T?

(a)
(b)
{c)

€)

&t 1 3R 2 e aws #
¥aet 1 3R 3 maftrs s &
wawr 2 3R 3 wifre arfes &
1, 2 3R 3 wefee arws €

Yefoll 125, 729, 1331 BT IR A1 FT & ?
(a) 495 -

(b) 1485

(c) 2221

IRges F X B @




SPACE FOR ROUGH WORK
P W & foe e

P-DETB-J-FN (28 - A)



SPACE FOR ROUGH WORK
o) B & foe I

P-DETB-J-FN (29 - A)




SPACE FOR ROUGH WORK
Hed B & foe shiE

P-DETB-J-FN { 30 - A}




SPACE FOR ROUGH WORK
& W & fore sE

P-DETB-J-FN ' (31 - A}




Si& a@ ud aF Revr gRawr @e @) T »Er e 9§ ad T @l

A&, : P-DETB-J-FN wewr gRas! s

waor gRast
WRfYe nfvra

— - — — gufe : 100

10,

r————

srgeel

qﬁmwﬂm?ﬁ&iwaﬁ,mwﬁmgﬁa&rﬂwmmﬁ%sﬁaﬂéﬁﬁw,m
o7 gET g1 955 3Rd] WA e A @ 1 aik own @, A 5@ v wamn gRast | sTa Afse |
m-mﬁaﬁwquﬁmgﬁaﬂ’maﬁqm&cw D gufRIfs we w0 3 Heag dfaw |

9 Wie gRaE R T # e T avss § 3 s
IEAre foE @ 1w gRae R 3R gE T o | '
39 e gRas # 100, were (7o) ke e € | s i R 3k ash @ mar @ ) gy d
IR AR (FR) e e & 1 399 ¥ e ugeR &) g o IR 39 SWR-uas R sifed & wd § | afe
mmm%m%mmﬁﬁ%ﬁmmﬁmﬁsﬁmmaﬁ |
yeie & fov dae oo & TG AR |

mquqatmﬁﬁewmmwﬁ sifha & € | FR-TEe ¥ fe v e efaw |
T weerelt & 37 A € |

59 edt b 3y wdemr gamr & fafim el & SegER ITR-TE R 3ifhd ST I TR, D TS
TOT-uF & ey Mfie e ¥ IR $5 fawor sw-wAs § & € |

AT I A e Y TG W ORA F TR, 90 TET $ W R I JIR-9AS FNeTd Y Wi
2 | et 3w qeuT g & ST & argafa @ |

T T $ T TFG a0 gRadT & I W Fer  # |
Terd IR & fére 2vs - -
aﬁﬁﬁmqﬁﬁwﬂaﬁwmf&emmmiﬁmmﬁmm t

0 TRE T 5 R gR dRee TR # | IR BN RS weT & B BT T Us T 3 S R
7o &g aa foe e 3wt o ves-ferg (0+33) TUs & ®u A Pier Se |

(i) IR B¢ Iulear ve I ot wR e &, & 39 W IR A S, gufy Re oIt § ¥ e
IR e At &, R N 39 wem & foe Ifwmgar & 39 ave & qus foan s |

(iii) ﬁmmﬁémmqﬁ%mm? M AR gRT R F8 faar s 2, & 39 wed
¥ fav o 2us 78 fezn s |

5§ aF JYs aF Rleor gRasr @ie @ T P e qF adb T G@iel

Note : English _ve:;sion of the instructions is printed on the front cover of this Booklet.




